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PYTHAGORAS THEOREM

Example

1. Verify that (3,4,5),(5,12,13),(8,15,17),(24,25,7) are the

Pythagorean triplets

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_I614ccraXmLg


Practice Set 2 1

2. Assin different values to a and b and obtain Pythagorean

triplets.

Watch Video Solution

1. Idenetify , with reason , which of the following are

Pythagorean triplets : 

(3,5,4)

Watch Video Solution

https://dl.doubtnut.com/l/_bNXr9lY3DLcQ
https://dl.doubtnut.com/l/_rdyMUctrLLeA


2. Idenetify , with reason , which of the following are

Pythagorean triplets : 

Watch Video Solution

(4, 9, 12)

3. Identify, with reason, which is Pythagorean triplets. 

`(5,12,13)

Watch Video Solution

4. Idenetify , with reason , which of the following are

Pythagorean triplets : 

(24,70,74)

https://dl.doubtnut.com/l/_2XFaf49vRD3a
https://dl.doubtnut.com/l/_4Mrsf8b8THzt
https://dl.doubtnut.com/l/_2giY6vh6rHvJ


Watch Video Solution

5. Idenetify , with reason , which of the following are

Pythagorean triplets : 

(10,24,27)

Watch Video Solution

6. Idenetify , with reason , which of the following are

Pythagorean triplets : 

(11,60,61)

Watch Video Solution

https://dl.doubtnut.com/l/_2giY6vh6rHvJ
https://dl.doubtnut.com/l/_EnBoXgjpYWJP
https://dl.doubtnut.com/l/_PYilkoETDESF


7. In the adjoining figure,

,MQ=9,QP=4 find NQ.

Watch Video Solution

∠MNP = 90∘ , segNQ ⊥ segMP

8. In the figure, , seg  seg  and 

, . , find . 


Watch Video Solution

∠QPR = 90∘ PM ⊥ QR

Q − M − R PM = 10 QM = 8 QR

https://dl.doubtnut.com/l/_bbcVf5jxQwWL
https://dl.doubtnut.com/l/_UDBbyCT73U3c
https://dl.doubtnut.com/l/_Rf7EZOPtPEPH


9. See fiugre Find RP and PS using the ingormation given in

 PSR 


Watch Video Solution

△

10. For finding AB and BC with the help of information

given in figure , complete following activity : 

https://dl.doubtnut.com/l/_Rf7EZOPtPEPH
https://dl.doubtnut.com/l/_XUpE6cf9DEvr


Watch Video Solution

11. Find the side and perimeter of a square whose diagonal

is 10 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_XUpE6cf9DEvr
https://dl.doubtnut.com/l/_4viRx9lVoIcM


12. In the adjoining figure,

find 


(i) EG 

(ii) FD, and 

(iii) EF

Watch Video Solution

∠DFE = 90∘ , FG ⊥ ED. IfGD = 8, FG = 12,

13. Find the diagonal of a rectangle whose length is 

and breadth is . 

35cm

12cm

https://dl.doubtnut.com/l/_4viRx9lVoIcM
https://dl.doubtnut.com/l/_6zAtJOBeT8VK
https://dl.doubtnut.com/l/_UiYgLz2Zs0Iy


Watch Video Solution

14. In the figure,  is the midpoint of . .

Prove that 

Watch Video Solution

M QR ∠PRQ = 90∘

PQ2 = 4PM 2 − 3PR2

15. Walls of two buildings on either side of a street are

parallel to each othe. A ladder  long is placed on the

street such that its top just reaches the window of a

building at the height of . On turning the ladder over to

the other side of the street, its top touches the window of

the other building at a height . Find the width of the

street.

5.8m

4m

4.2m

https://dl.doubtnut.com/l/_UiYgLz2Zs0Iy
https://dl.doubtnut.com/l/_tqURviBlfzGZ
https://dl.doubtnut.com/l/_AaGaLr3idRQo


Try This

Practice Set 2 2

Watch Video Solution

1. In  if M is the midpiont of BC and seg AM 

seg BC, then prove that prove that

Watch Video Solution

ΔABC, ⊥

AB2 + AC 2 = 2AM 2 + 2BM 2.

1. In , point S is the midpoint of side QR. If PQ=11,

PR=17, PS=13, then find QR.

W t h Vid S l ti

△ PQR

https://dl.doubtnut.com/l/_AaGaLr3idRQo
https://dl.doubtnut.com/l/_fuJ8rgf7OgEB
https://dl.doubtnut.com/l/_F7gEePB6CEom


Practice Set 2 3

Practice Set 2 4

Watch Video Solution

1. In , AB=10, AC=7, BC=9. Find the length of the

median drawn from point C to side AB.

Watch Video Solution

△ ABC

1. In the adjoing figure, seg PS is the median of and 




i. 

h id l i

ΔPQR

PT ⊥ QR.

PR2 = PS2 + QR × ST + ( )
2

QR

2

https://dl.doubtnut.com/l/_F7gEePB6CEom
https://dl.doubtnut.com/l/_fLkaQoXullm6
https://dl.doubtnut.com/l/_sUDL24dEkn0m


Practice Set 2 5

Practice Set 2 6

Watch Video Solution

1. In , point M is midpoint of side BC. If 

 and AM=8 cm, find BC.

Watch Video Solution

△ ABC

AB2 + AC 2 = 290cm2

1. In the figure , point  is in the interior of rectangle 

. 


Prove that, 

 


T

PQRS

T S2 + T Q2 = T P 2 + T R2

https://dl.doubtnut.com/l/_sUDL24dEkn0m
https://dl.doubtnut.com/l/_uupxdLtvO068
https://dl.doubtnut.com/l/_g4AjJjZsjbi7


Problem Set 2

(As shown in the figure, draw seg  side  and 

.) 


Watch Video Solution

AB ∣ ∣ SR

A − T − B

1. Out of the following which is a Pythagorean triplet? a)

(1,5,10) b) (3,4,5) c) (2,2,2) d) (5,5,2)

https://dl.doubtnut.com/l/_g4AjJjZsjbi7
https://dl.doubtnut.com/l/_4h7LYT9pWGTW


A. (1,5,10)

B. (3,4,5)

C. (2,2,2)

D. (5,5,2)

Answer: B

Watch Video Solution

2. In a right angled triangle, if sum of the squares of the

sides making right angle is 169 then what is the length of

the hypotenuse? a)12 b)13 c)15 d)5

A. 15

B. 13

https://dl.doubtnut.com/l/_4h7LYT9pWGTW
https://dl.doubtnut.com/l/_2ewH5N1vm9qq


C. 5

D. 12

Answer: B

Watch Video Solution

3. out of the dates given below which date constitutes a

Pythagorean triplet?

A. 

B. 

C. 

D. 

15/08/17

16/08/16

3/5/17

4/9/15

https://dl.doubtnut.com/l/_2ewH5N1vm9qq
https://dl.doubtnut.com/l/_X8fN7M9nmTuB


Answer: A

Watch Video Solution

4. If a, b, c are sides of a triangle and , then

name the type of triangle. a) Obtuse angled triangle b)

Acute angled triangle c) Right angled triangle d)

Equilateral triangle

A. Obtuse angled triangle

B. Acute angled triangle

C. Right angled triangle

D. Equilateral triangle

Answer: C

a2 + b2 = c2

https://dl.doubtnut.com/l/_X8fN7M9nmTuB
https://dl.doubtnut.com/l/_Cyz7L5712MXd


Watch Video Solution

5. Find perimeter of a square if its diagonal is  cm. a)

10 cm b)  cm c) 20 cm d) 40 cm

A. 10 cm

B.  cm

C. 20 cm

D. 40 cm

Answer: D

Watch Video Solution

10√2

40√2

40√2

https://dl.doubtnut.com/l/_Cyz7L5712MXd
https://dl.doubtnut.com/l/_PgJGc3aXGBre


6. Altitude on the hypotenuse of a right angled triangle

triangle divides it in two parts of lengths 4 cm and 9 cm.

Find the length of the altitude.

A. 9 cm

B. 4 cm

C. 6 cm

D.  cm

Answer: C = 6cm

Watch Video Solution

2√6

https://dl.doubtnut.com/l/_F1GQGUZnbGLz


7. Height and base of a right angled triangle are 24 cm and

18 cm, find the length of its hypotenuse. a) 24cm b) 30cm c)

15cm d) 18cm

A. 24 cm

B. 30 cm

C. 15 cm

D. 18 cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RsLVVoE7K2eQ


Problem Set 10

8. In , , , .Find

the measure of .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC AB = 6√3cm AC = 12cm BC = 6cm

∠A

30∘

60∘

90∘

45∘

https://dl.doubtnut.com/l/_rxy61JRHajjT


1. Find the height of an equilateral triangle having side 2a.

Watch Video Solution

2. Do sides 7 cm, 24 cm, 25 cm from a right angled triangle?

Give reason.

Watch Video Solution

3. Find the length of diagonal of a rectangle having

dimensions 11 cm and 60 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_65opSy7o3bd8
https://dl.doubtnut.com/l/_AB51OkA4VrCs
https://dl.doubtnut.com/l/_hiwoQMwIn4lB


4. Find the length of the hypotenuse of a right 

angled triangle if remaining sides are 9 cm and 12 cm

Watch Video Solution

5. Side of isosceles right angled triangle is . Find its

hypotenuse.

Watch Video Solution

x

6. In . Is 

 a right angled triangle? If yes, which angle is 

Watch Video Solution

△ PQR, PQ = √8, QR = √5, PR = √3

△ PQR

90∘ ?

https://dl.doubtnut.com/l/_J745VKwfoThL
https://dl.doubtnut.com/l/_RpndBPU4HeHi
https://dl.doubtnut.com/l/_HVPlHEGhkwLP


7. In , RT=12 cm. Find RS

and ST.

Watch Video Solution

△ RST , ∠S = 90∘ , ∠T = 30∘

8. Find the diagonal of a rectangle whose length is 16 cm

and area is 192 sq.cm.

Watch Video Solution

9. Find the length of the side and perimeter of an

equilateral triangle whose height is  cm.

Watch Video Solution

√3

https://dl.doubtnut.com/l/_HVPlHEGhkwLP
https://dl.doubtnut.com/l/_Tk6hIELgEOjX
https://dl.doubtnut.com/l/_Vn3PFzXvCnVW
https://dl.doubtnut.com/l/_vNerCjiLiHTH


10. In , seg AP is a median. If , 

, then find AP.

Watch Video Solution

△ ABC BC = 18

AB2 + AC 2 = 260

11.  is an equilateral triangle. Point P is on base BC

such that PC= , if AB=6 cm, find AP.

Watch Video Solution

△ ABC

BC
1

3

12. From the information given in the figure, prove that 

. 
PM = PN = √3 × a

https://dl.doubtnut.com/l/_vNerCjiLiHTH
https://dl.doubtnut.com/l/_tWqmCGNwWaZX
https://dl.doubtnut.com/l/_auQbO3HcHx6C
https://dl.doubtnut.com/l/_G9fFaPiBPByI


Watch Video Solution

13. Prove that the sum of the squares of the diagonals of a

parallelogram is equal to the sum of the squares of its

sides.

Watch Video Solution

14. Paranali and Prasad started walking to the East and to

the North respectively, from the same point and at the

https://dl.doubtnut.com/l/_G9fFaPiBPByI
https://dl.doubtnut.com/l/_tTSvbGJKbvNx
https://dl.doubtnut.com/l/_KYayoTShPR48


same speed. After 2 hours distance between then was

km. Find their speed per hour.

Watch Video Solution

15√2

15. In  , seg BL and seg CM are

medians of  . Then prove that 

Watch Video Solution

△ ABC, ∠BAC = 90∘

△ ABC

4(BL2 + CM 2) = 5BC 2

16. Sum of the squares of adjacent sides of a parallelogram

is 130 cm length of one of its diagonals is 14 cm. Find the

length of the other diagonal.

Watch Video Solution

https://dl.doubtnut.com/l/_KYayoTShPR48
https://dl.doubtnut.com/l/_GEXFhcico2sD
https://dl.doubtnut.com/l/_Ly5gj1FHp5Jt


Problem Set 26

1. In , 


seg  seg , 


. 


Prove that . 


h id l i

ΔABC

AD ⊥ BC

DB = 3CD

2AB2 = 2AC 2 + BC 2

https://dl.doubtnut.com/l/_Ly5gj1FHp5Jt
https://dl.doubtnut.com/l/_iDm8nuyjWWRF


Problem Set 27

Problem Set 30

Watch Video Solution

1. In an isosceles triangle, length of each congruent side is

13 cm and length of the base is 10 cm. Find the distance

between vertex opposite to base and centroid.

Watch Video Solution

1. Seg PM is a median of . If PQ=40, PR=42 and

PM=29, find QR.

△ PQR

https://dl.doubtnut.com/l/_iDm8nuyjWWRF
https://dl.doubtnut.com/l/_9Q8ly6oRs45s
https://dl.doubtnut.com/l/_BsQaE4qDhfDR


Problem Set 31

Activities For Practice

Watch Video Solution

1. Seg AM is a median of . If AB=22, AC=34, BC=24,

find AM.

Watch Video Solution

△ ABC

1. In , point M is midpoint of side BC. If 

 and AM=8 cm, find BC.

Watch Video Solution

△ ABC

AB2 + AC 2 = 290cm2

https://dl.doubtnut.com/l/_BsQaE4qDhfDR
https://dl.doubtnut.com/l/_wVkA6CXYBhiO
https://dl.doubtnut.com/l/_mWxMxi0H27Ez


Multiple Choice Questions

2. Find the length of the side and perimeter of an

equilateral triangle whose height is  cm.

Watch Video Solution

√3

1. Which of the following triplets will not form a right

angled triangle?

A. 50,30,40

B. 15,20,25

C. 20,29,21

D. 12,16,11

https://dl.doubtnut.com/l/_uMMCXpsQVXvj
https://dl.doubtnut.com/l/_pg63kCPOstH7


Answer:

Watch Video Solution

2. If in  AB =15 cm,BC = 17 cm and AC = 8 cm then

which of the following will be a right angle?

A. 

B. 

C. 

D. non of these

Answer:

Watch Video Solution

ΔABC

∠A

∠B

∠C

https://dl.doubtnut.com/l/_pg63kCPOstH7
https://dl.doubtnut.com/l/_YCEUM92YOMh0


3. From the figure given below, the length of PQ and PR are

…………… and ………….. respectively.

A. 

B. 

C. 

D. 

Answer:

8cm, 8√2cm

8√2cm, 8cm

8cm, 8√3cm

, 8√3cm, 8cm

https://dl.doubtnut.com/l/_C39zI95hAShH


Watch Video Solution

4. The length of the longest segment which can be drawn

in a rectangle of length 84cm and breadth 13 cm is ………… .

A. 84 cm

B. 85 cm

C. 86 cm

D. 97 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_C39zI95hAShH
https://dl.doubtnut.com/l/_jf4dgUbdeTks


5. If the diagonal of a square is  then the length

of its side is …………. .

A. 50 cm

B. 25 cm

C. 5 cm

D. 

Answer:

Watch Video Solution

25√2cm,

5√2cm

6. If the length of the hypotenuse of isosceles right angled

triangle is 10 cm, then the length of the equal sides will be

https://dl.doubtnut.com/l/_rU4NqIGT713r
https://dl.doubtnut.com/l/_5hior1aVElyg


………… .

A. 10 cm

B. 

C. 5 cm

D. 

Answer: D

Watch Video Solution

10√2cm

5√2cm

7. Diagonals of rhombus are 12 cm and 16 cm. Find its side.

A. 10 cm

B. 20 cm

https://dl.doubtnut.com/l/_5hior1aVElyg
https://dl.doubtnut.com/l/_ixl8AjzMRTcR


C. 

D. 

Answer:

Watch Video Solution

10√2cm

20√2cm

8. Find diagonal of square with side 8 cm.

A. 8 cm

B. 

C. 

D. 

Answer:

4√2cm

8√2cm

8√3cm

https://dl.doubtnut.com/l/_ixl8AjzMRTcR
https://dl.doubtnut.com/l/_WSIRhgOf8ftg


Watch Video Solution

9. In an isosceles , if 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔABC

AC = BC and AB2 = 2AC 2then∠C = ?

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_WSIRhgOf8ftg
https://dl.doubtnut.com/l/_axVyTVxeIz5B


10. ABC is an isosceles triangle in which If

AC = 2 cm, then the value of AB is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠ACB = 90∘ .

√2cm

2√2cm

3√2cm

4√2cm

11. In an equilateral triangle ABC, If  B-D-C and

AB = 12 cm, then the value of AD is

AD ⊥ BC,

https://dl.doubtnut.com/l/_JxNtMgylO1QF
https://dl.doubtnut.com/l/_XcQnDU07vqWw


A. 6 cm

B. 

C. 4 cm

D. 

Answer:

Watch Video Solution

6√3cm

4√3cm

12. A man goes 9 m due east and then 40 m due north. How

far is he from the starting point?

A. 35 m

B. 39 m

https://dl.doubtnut.com/l/_XcQnDU07vqWw
https://dl.doubtnut.com/l/_mqvCqDIaCtNX


C. 41 m

D. 45 m

Answer: C

Watch Video Solution

13. A ladder 25 m long reaches
a window of a building 20 m

above the ground. Determine the distance of the
 foot of

the ladder from the building.

A. 10 m

B. 12 m

C. 15 m

D. 18 m

https://dl.doubtnut.com/l/_mqvCqDIaCtNX
https://dl.doubtnut.com/l/_SCsTmsirLrPu


Answer: C

Watch Video Solution

14. In  hypotenuse

PR,-P-S-R,then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔPQR, ∠PQR = 90∘ and segQS ⊥

PR2 = PQ × PR

QS2 = PS × SR

PR2 = PS × SR

QS2 = PQ × QR

https://dl.doubtnut.com/l/_SCsTmsirLrPu
https://dl.doubtnut.com/l/_QkZNiQWKmJ9Y


15. In  If

CD=2 cm and AD=8cm then BD is equal to

A. 2 cm

B. 4 cm

C. 6 cm

D. 8 cm

Answer:

Watch Video Solution

ΔABC, ∠B = 90∘ , BD ⊥ AC, A − D − C.

16. In  CD is the median. If ΔABC,

AC 2 + BC 2 = 290 and CD = 9  then AD =

https://dl.doubtnut.com/l/_avzkGvMODcps
https://dl.doubtnut.com/l/_Ge1meREHPjxU


Aditional Problems For Practice Based On The Practice Set 2 1

A. 6

B. 7

C. 8

D. 9

Answer:

Watch Video Solution

1. Identify the Pythagorean triplets from the following: 

i. (15,10,35)

Watch Video Solution

https://dl.doubtnut.com/l/_Ge1meREHPjxU
https://dl.doubtnut.com/l/_cypCxfJjUwC2


2. Identify the Pythagorean triplets from the following: 

ii. (28,45,53)

Watch Video Solution

3. Identify the Pythagorean triplets from the following: 

iii. (10,10,20)

Watch Video Solution

4. Identify the Pythagorean triplets from the following: 

iv. (16,63,65)

Watch Video Solution

https://dl.doubtnut.com/l/_cypCxfJjUwC2
https://dl.doubtnut.com/l/_WFx4qqkAilb0
https://dl.doubtnut.com/l/_GPyFjwq6mUWa
https://dl.doubtnut.com/l/_F3CEGF3m8FXb


5. Identify the Pythagorean triplets from the following: 

v. (20,21,29)

Watch Video Solution

6. Identify the Pythagorean triplets from the following: 

vi. (9,20,21)

Watch Video Solution

7. In  then find 

 and .

Watch Video Solution

ΔABC, ∠B = 90∘ , ∠A = 30∘ , AC = 14,

AB BC

https://dl.doubtnut.com/l/_F3CEGF3m8FXb
https://dl.doubtnut.com/l/_uBhf8fmmhhmx
https://dl.doubtnut.com/l/_W0EmmpGn9xpJ
https://dl.doubtnut.com/l/_BJgfxPBjHJZo


8. In

, then find PR and QR.

Watch Video Solution

ΔPQR, ∠P = 30∘ , ∠Q = 60∘ , ∠R = 90∘ and PQ = 12cm

9. Find the length of the hypotenuse of a right angled

triangle if remaining sides are 9 cm and 12 cm.

Watch Video Solution

10. In the adjoining figure, if

then find PR and RS. 
∠PQR = 90∘ , ∠PSR = 90∘ ,

https://dl.doubtnut.com/l/_4fQwXetDF1UN
https://dl.doubtnut.com/l/_f7lNI9mEtIeU
https://dl.doubtnut.com/l/_S9nxIH0Ix6tX


Watch Video Solution

11. Find the side of a square whose diagonal is 10 cm.

Watch Video Solution

12. Find the side of a square whose diagonal is .

Watch Video Solution

16√2cm

https://dl.doubtnut.com/l/_S9nxIH0Ix6tX
https://dl.doubtnut.com/l/_3qZjShizIJKW
https://dl.doubtnut.com/l/_Fr17YrgwYgtL


13. In State whether 

 is a right angled triangle or not.

Watch Video Solution

ΔLMN, l = 5, m = 13, n = 12.

ΔLMN

14. A ladder 10 m long reaches a window 8m above the

ground.Find the distance of the foot of the ladder from the

base of the wall.

Watch Video Solution

15. In an isosceles triangle PQR, PQ =PR and S is any point

on side QR. Then prove that: 

Watch Video Solution

PQ2 − PS2 = QS × SR.

https://dl.doubtnut.com/l/_cqZyEJjqza2Z
https://dl.doubtnut.com/l/_KTod9lSus0Wr
https://dl.doubtnut.com/l/_XdP776fZtuLQ


Aditional Problems For Practice Based On The Practice Set 2 2

1. In the given figure, seg PM is a median of

 then find QR. 


Watch Video Solution

ΔPQR. PM = 9 and PQ2 + PR2 = 290,

https://dl.doubtnut.com/l/_XdP776fZtuLQ
https://dl.doubtnut.com/l/_JtUrcyu6T1Km


2. In the figure below, if ,

then find the length of median drawm to side BC. 

Watch Video Solution

AB2 + AC 2 = 122, BC = 10cm

3. In , , ,  and seg 

 is the median drawn to side . Find the length of

seg .

Watch Video Solution

ΔABC ∠ABC = 90∘ AB = 12 BC = 16

BP AC

BP

https://dl.doubtnut.com/l/_rQFxNwmQk2Ui
https://dl.doubtnut.com/l/_82hgXZWfooBT


Chapter Assessment

4. Adjacent sides of a parallelogram are 11 cm and 17 cm. If

the length of one of its diagonals is 26 cm, find the length

of the other.

Watch Video Solution

1. Which of the following triplets will not form a right

angled triangle?

A. (5,12,13)

B. (8,15,17)

https://dl.doubtnut.com/l/_82hgXZWfooBT
https://dl.doubtnut.com/l/_ZU8U6uMONVsX
https://dl.doubtnut.com/l/_lr8A3BSVFncj


C. (20,10,11)

D. (0,40,41)

Answer:

Watch Video Solution

2. In and the length of the

hypotenuse is 20 cm. What will be length of QR?

A. 10cm

B. 

C. 

D. 

ΔPQR, ∠Q = 30∘ , ∠R = 90∘

10√3cm

10√2cm

5√2cm

https://dl.doubtnut.com/l/_lr8A3BSVFncj
https://dl.doubtnut.com/l/_rq44Rj5Us91X


Answer:

Watch Video Solution

3. If the length of the diagonal of a square is 16 cm, then its

perimeter will be

A. 32cm

B. 

C. 64cm

D. 

Answer:

Watch Video Solution

32√2cm

64√2cm

https://dl.doubtnut.com/l/_rq44Rj5Us91X
https://dl.doubtnut.com/l/_qvT8D6rsUsQw


4. In  If PS=32cm,

SR=8cm, then QS= 

A. 8cm

B. 

C. 16cm

D. 40cm

ΔPQR, ∠Q = 90∘ and QS ⊥ PR.

2√10cm

https://dl.doubtnut.com/l/_FOaAQWIZ1lcb


Answer:

Watch Video Solution

5. Find the diagonal of rectangle having length and

breadth 12cm and 8cm respectively.

Watch Video Solution

6. In , AP is a median on side BC. If AP=7,

, find BC.

Watch Video Solution

△ ABC

AB2 + AC 2 = 260

https://dl.doubtnut.com/l/_FOaAQWIZ1lcb
https://dl.doubtnut.com/l/_BkKiqoqHOpKZ
https://dl.doubtnut.com/l/_W66VW8QCzYXR


7. For finding AB and BC with the help of information given

in the adjoining figure, 

Watch Video Solution

8. A 50 m long ladder reaches a window 14 m above the

ground. Find the distance of the foot of the ladder from

https://dl.doubtnut.com/l/_gVxz4OL5pQAZ
https://dl.doubtnut.com/l/_3YSriPxcxKsI


the base of the wall.

Watch Video Solution

9. Find the side of a square whose diagonal is 10 cm.

Watch Video Solution

10. The height of an equilatertal triangle having each side

12 cm, is

Watch Video Solution

11. Prove that, in a right-angled triangle, the square of

hypotenuse is equal to the sum of the square of remaining

https://dl.doubtnut.com/l/_3YSriPxcxKsI
https://dl.doubtnut.com/l/_APq3kRWVNiQw
https://dl.doubtnut.com/l/_kmKN92CFxqES
https://dl.doubtnut.com/l/_H4yT0JcrqwrP


two sides.

Watch Video Solution

12.  is an equilateral triangle. Point P is on base BC

such that PC= , if AB=6 cm, find AP.

Watch Video Solution

△ ABC

BC
1

3

13. The length of one side of a parallelogram is 17 cm. If the

length of its diagonals are 12 cm and 26 cm, then find the

length of the other sides of the parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_H4yT0JcrqwrP
https://dl.doubtnut.com/l/_BsOBdMBkFcF8
https://dl.doubtnut.com/l/_9Ffsc8ohu3QJ

